
Mighty Swiss Bar



Position 3

Position 6

M10x30

Spacer fi 48mm 
Rubbery

Multigrip Bar EU

Washer M10

HybridBar Sleeve

Nut M10

Position 1

Position 4

Position 2

Position 5

Assembly elements: 

Metal Lock Jaw M8x25

Position 7 Position 8



Assembly instruction:

1

2

5 4 34

5
4 4 3

5 4

6

4 3

STEP: 1

STEP: 1



Assembly instruction:

120mm

7

8

STEP: 3


